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| PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes :.
each sentence. Then mark the correct choice on your answer sheet.

1-  What was intended as a peaceful demonstration rapidly ——-—-——-infe violence.

1) agitated 2) degenerated 3) preceded 4) diseriminated
2-  The Democratic Party - 70 percent of the vote,

1) garnered 2) esteemed 3) obligated 4) assembled
3-  Some animals can --—--— very high temperatures.

1) detach 2) submit 3) obstruct 4) withstand

4- Researchers have discovered that up to one half of all chiidren born of alcoholics are

genetically -- to alcoholism.

I} discerned 2) apprehended 3) predisposed 4) impressed
5- Communication via the Internet gives an important ~-—-——- to international trade.

1) dimension 2) exposure 3)expenditure 4) distribution
6- Lack of childcare facilities can be a major —-----— for women wishing to work.

1) dispute 2) routine 3pobstacle 4) contraction
7- Itis a common —-——-—- that women are worse drivers than men.

1) essence 2} impetus 3) fallacy 4) amusement
8- The ————- for using this teaching method is to encourage student confidence.

1} advent 2) rationale 3) authenticity 4) constitution
9-  The degree of punishment should be -——--- -== to the seriousness of the crime.

1) inclined 2) receptive 3) prominent 4) proportional
10- Low inflation is the key to —————- economic growth,

1) sustained 2) congruous 3) extravagant 4) well-disposed

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

Commonwealth of Nations is an international organization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(11) -===------ the British Dominions were recognized as ‘autonomous communities’, (12) -===---
the British Crown. Since 1947, when India chose (13) ~---rees-a within the Commonwealth, it
has consisted of an increasing number of republics, so that the role of the Rritish monarch, who
is the head of enly seventeen (14) ------—- a total of fifty-three member states, is confined
(15) ==memmmm- head 'of the. Commonwealth. Given that its member states have little in common
apart from a historical tie to, the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

11- 1)so 2)which 3) so that 4) in which
12- 1) binding together 2) bound together by
3) together having bound 4) having bound together
13- 1) to remain 2}remaining 3) for remaining 4} to beremained
14- 1) by 2) out of 3} within 4) outside
15- 1) for 2) to who'is 3) to that of 4) that she is
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Part C. Reading Comprehension

Directions: Read the following three passages and choose the best c!:.:m:e (1), (2 (3)
or (4). Then mark it on your answer sheet.

PASSAGE I:

Bioprocessing is an essential part of many foods, chemical and pharamaceutical industries.
Bioprocess operations make use. of microbial, animal and plant eells, and components of cells
such as enzymes to manufacture new products and destroy harmful wastes. Use of
microorganisms to transform biological materials for production of fermented foods has it's
origin in antiquity. Since then, bioprocesses have been developed for an enormous range of
commercial products, from relatively cheap materials such as industrial alcohol and organic
solvents, to expensive specialty chemicals such as antibiotics, therapeutic proteins and vaccines.
Industrially useful enzymes and living cells such as bakers’ yeast are also commercial products

of bioprocessing.

Bioprocesses do not have applications in -——————,

1) Food industry 2) Electroine industry

3) Environment cleaning 4) Production of medicines

Using microbes to produce useful things ---- ;

1) started recently 2) originated in Greece

3) Dates back to ancient times 4)started a few centuries ago
“Destroy” in this passage is closest in meaning to ——--—--,

1) degrade 2) kill 3) demolish 4) disappear

Which of the following statements about bioprocesses is more correct?
1) Bioprocesses are used to produce expensive chemicals

2) Bioprocesses are used to produce cheap chemicals

3) Bioprocesses are only used to produce medicines

4) Bioprocesses are used to produce both expensive and cheap chemicals

PASSAGE II:

When produeing chemicals is goncerned, living organisms, such as microbes and plants,
have a number of important advantages over conventional chemical refineries. Not only can
they ofien produce more complex chemical compounds, but they also use renewable feed
stocks, such as sugars, carbon dioxide and sunlight rather than petroleum.

However, they have one major disadvantage: a chronic lack of flexibility. Whereas chemical
refineries can be designed to produce a huge array of diverse chemical compounds, with natural
organisms you get what you are given. Our ability to engineer biclogy has always far lagged
behind @ur ability to engineer chemistry,

But that is beginning to change. What started with the transfer of single genes between
organisms has now progressed to the ability to insert and modify entire metabolic pathways and
genetic control systems. This is resulting in the development of natural organisms able to
produce. complex chemicals that are entirely alien to them, and the rise of a totally new field

known as synthetic biology:
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Whichrone of the following statements property describes the disadvantage of producing
chemicals using living organisnis compared to producing them using chemical refineries?
1) living organisms cannot be engineered

2) living organisms produce a narrower range of chemicals

3) the chemicals produced by living organisms are too complex

4) the feedstocks used by living organisms are too expensive

Which one of the following is NOT an example of the application of concept of synthetic
biology?

1) Inserting genes in plants

2) Inserting genes in MICcro organisms

3) producing synthetic chemicals using microorganisms

4) producing a chemical normally produce in human cells, by microorganisms

If something has a *chronic lack of flexibility” it is:

1) never inflexible 2) frequently flexible 3) sometimes flexible 4} perpetually infexible
If A “lags behind” B, which of the following statements are TRUE?

1) A is fasterthan B 2) A is bigger than B 3) B is.faster than A 4).B is bigger than A

PASSAGE 3:

Bioremediation involves using natural bacteria and enzymes to digest chemicals into
harmless carbon dioxide, water and microbialimaterial. It is surprising what a wide range of
chemicals bacteria and other micro-organisms can thrive on including oil, benzene, pesticides
and polycyelic aromatic hydrocarbons.

So why don’t contaminated soils just clean thémselves up? There are two main reasons:
either a lack of bacteria which are able to"degrade the polluting chemicals, or the bacteria
present are not degrading effectively. It used“to be thought that many soils did not contain
bactria which were capable of attacking complex organic chemicals, so specially-cultured
bacteria were added to promote their remediation.

However. with the majority of contaminants this was unnecessary, and usually failed. In
general, most soil contaminants can be digested by the bacteria already present in the soil (the
indigenous bacteria), if only they can be givendhe right conditions. If there are few indigenous
bacteria in the soil then a natural mixed baecterial eulture such as organic matter or normal soil

can be added.

Which of the following phrases is closest in meaning to the word ‘thrive’ as used in the

passage?
1) to be successful in 2) to be inhibited by
3) to degrede luxuriantly 4) to grow successfully in

Which one of the following reasons is NOT the correct explanation for why contaminated

soils do mot elean themselves?

1) the ineffectiveness of natural bacteria in soil

2) the lack of appropriate bacterial population in soil

3) the inappropriateness of soil conditions for the growth of natural bacteria

4) the general inability of indigenous bacteria to degrade manmade pollutants

Which one of the following titles most closely describes the content of the passage?
1) strategies used in bioremedution

2) the advantages of bioremediation

3) Environmenlal probléms associaled with the use of bivremediation

4) Bioremediation converts chemicals in soil into harmless products
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27- Which one of the following methods used in bioremediation has had the least success?
1) Addition of organic matter to soil
2) Addition of specialized bacteria to soil
3) Addition of normal soil containing natural bacteria
4) making conditions in the soil amenable to bacteria growth

30-

‘Anabolism’ is the same a§ -—--— "

|} biosynthesis 2) catabolism 3) respiration 4) metabolism
Lag phase in the microbial growth curve is -,

1) an adaptation period 2) fast growth period

3) logarithmic period 4) deceleration growth period

Which one of the following is the closest in meaning to fermentation broth?
1) the growth media for fermentation

2} microbial cells used in fermentation

3) Growth media plus microbial cells

4) the growth media and microbil cells during fermentation
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